
Math Olympiad (Class 9th) 

Total Marks: 35                                             2022-23                  Time: 1 Hour 

 
Name: Father’s Name: 

School Name: District:  

Class: Section:  

Student ID: Class Roll No.:  

not: hryk pRSn nUM iDAwnpUrvk piVAw jwvy[hryk pRSn 1 AMk dw hY[ hryk pRSn dy a`qr leI cwr ivklp hn ijMnHW 
iv`coN kyvl iek̀ TIk hY[shI ivklp A`gy shI (  ) dw inSwn lgwau[ 

Note: Read all the questions carefully. Each question carries 1 mark. There are four options for each question out 
of which only one is correct. Put a tick (  ) mark on the correct option. 

 

Q1: ਸ੃ਠਾਂ ਦਦਿੱ ਤ੃ ਕਥਨਾਂ ਨੂੂੰ  ਩ੜ੅: 
ਕਥਨ I : sMpUrn ਷ੂੰ ਦਿਆਵਾਂ ਗੁਣਾ ਦ੃ ਅੂੰ ਤਰਗਤ ਫੂੰ ਦ ਸੁੂੰ ਦੀਆਂ ਸਨ। 
ਕਥਨ II : sMpUrn ਷ੂੰ ਦਿਆਵਾਂ ਬਾਗ ਦ੃ ਅੂੰ ਤਰਗਤ ਫੂੰ ਦ ਸੁੂੰ ਦੀਆਂ ਸਨ। 
Read the  following statements carefully: 
Statement I: Integers are closed under multiplication. 
Statement II: Integers are closed under division. 

(a) ਦ਷ਰਪ ਕਥਨ I ਷ਸੀ ਸ੄। Only statement I is true.               

(b) ਦ਷ਰਪ ਕਥਨ II ਷ਸੀ ਸ੄। Only statement  II is true.   

(c) ਦ੅ਵੇਂ ਕਥਨ  ਷ਸੀ ਸਨ / Both statements are true. 

(d) ਦ੅ਵੇਂ ਕਥਨ  ਷ਸੀ ਨਸੀਂ ਸਨ।/None of the statement is true. 

Q2)  ie`k cl vwly do  ਘਾਤੀ ਫਸੁ਩ਦ ਦਵਿੱ ਚ ਩ਦਾਂ ਦੀ ਦਗਣਤੀ  ਵਿੱ ਧ ਤੋਂ ਵਿੱ ਧ ______ ਸੁੂੰ ਦੀ ਸ੄। 
       A quadratic polynomial in one variable has at most ________ terms. 

(a)  1      (b) 2       (c) 3      (d) 4 

Q3) ਸ੃ਠ ਦਦਿੱ ਤ੃ ਗਏ ਷ਭੀਕਰਣਾਂ ਦਵਿੱ ਚੋਂ ਦਕ਷ ਷ਭੀਕਰਣ ਦਾ  ਗਰਾਪ  x-Dury dy smWqr ਸ੄? 

      Which of the following  linear equations has its graph parallel to x-axis ? 
a) 𝑥 + 𝑦 = 1        b) 𝑦 = 0.2𝑥         c) 𝑦 = 2      d)  2𝑥 + 1=0 

 

Q4) ਦਦਿੱ ਤ੃ ਸ੅ਏ ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ AB||CD  ਅਤ੃ BC||ED  ਸ੄ ਤਾਂ x ਦਾ ਭੁਿੱ ਲ ਩ਤਾ ਕਰ੅। 
      In the given figure, If  AB||CD  and BC||ED  then find the value of x. 

a) 600      b) 750       c) 1050     d) 900 

Q5) ਇਿੱਕ Awieq dI lMbweI (5a-4) iekweIAW Aqy KyqrPl 25a2-35a+12  vrg iekweIAW hY[ies Awieq dI coVweI 
hovygI:  
Length of a rectangle is (5a-4) units and area is 25a2-35a+12  square units. Find its breadth. 

a) (5a+4)  units  b) (5a-4)  units  c) (5a-3)  units  d) (5a+3)  units 

Q6) ਗੁਣਨਿੂੰਡੀਕਰਣ ਕਰ੅:        Factorize: x2
+y-xy-x 

     a)  (x + y) (x-1)          b) (x - y) (x-1)          c) ) (x - y) (y-1)          d) (x - y) (y+1)           

Q7) hyT ilKIAW ivc̀oN ikhVI ie`k bhupd nhIN hY? Which of the following is not a polynomial? 

      a) 6x
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Q8) koeI iqMn sMiKAwvW dw joV 9 hY, iehnW sMiKAwvW dy vrgW dw joV 29 Aqy iehnW sMiKAwvW dy GxW dw  joV 99 
hY[iehnW sMiKAwvW dw guxnPl pqw kro[ 

        If the sum of three numbers be 9, the sum of their squares be 29 and the sum of their cubes be 99, then find 
the product of the numbers. 

        a)  72          b) 56          c) 48         d) 24        



Q9) jykr   𝟐− 𝟑

𝟐+ 𝟑
= 𝑎 + 𝑏 3  hovy qW a Aqy  b dw mu`l pqw kro[ 

         If 
2− 3

2+ 3
= 𝑎 + 𝑏 3 then find the values of a and b. 

a) a=7, b=4           b) a= – 7, b=4           c) a=7, b= – 4           d) a= – 7, b= – 4     
  

Q10) ie`k bYg iv`c 4 lwl Aqy kuJ hrIAW gyNdW hn[bYg ivc̀oN Acwnk ie`k gyNd iKc̀y jwx ‘qy ie`k hrI gyNd pRwpq hox 
dI sMBwvnw ie`k lwl gyNd pRwpq hox dI sMBwvnw qoN A`DI hY[ bYg ivc̀ hrIAW gyNdW dI sMiKAw pqw kro[ 

       There are 4 red balls and some green balls in a bag. On taking out  a ball at random from this bag, probability of 
getting a green ball is half the probability of getting a red ball. Find the total number of green balls in the bag.  

         (a) 2        b)  3       c) 4             d) None of these 
 

Q11) ie`k GVI nUM ies qrHW r`iKAw igAw hY ik duiphr 12 vjy iesdI imMt vwlI sUeI au`qr- pUrb v`l ieSwrw krdI 
hY[d`so ik duiphr 1:30 vjy ies GVI dI GMty vwlI sUeI iks idSw vl̀ ieSwrw krygI? 

        A clock is so placed that at 12 noon its minute hand points towards north-east. In which direction does its 
hour hand point at 1.30 pm? 

(a) au`qr /North        b) pUrb/ East       c) d`Kx- pUrb/ South-East      d) d`Kx /South 
 

Q12) ie`k smcqurBuj dy ivkrxW dw Anupwq 8:15 hY iesdw pirmwp 34 sm hY[ ies dw KyqrPl pqw kro[   

          Ratio of diagonals of a rhombus is 8:15 and its perimeter is 34 cm. Find its area. 
a) 120 sq  cm/ 120 vrg sm             b) 60 sq  cm/ 60  vrg sm    

c) 180 sq  cm/ 180 vrg sm             d) 180√3  sq  cm/ 180√3  vrg sm     
   

Q13) id`qy gey ic`qr ivc̀ x dw mu`l pqw kro[  
     Find the value of x in the given figure.   

a) 750        b) 200      c) 950        d) 1050 

 
 
Q14) id`qy gey ic`qr ivc̀ , DE || BC  Aqy  MF || AB  hY[AEM dw mu`l pqw kro[ 
          In the given figure, DE || BC and MF || AB.  Find the value of  AEM. 

a) 500        b) 400      c) 900        d) 1300 
 

 

Q15) iksy ck̀r dy ky`dr Aqy iesdI jIvw dy m`D ibMdU nUM imlwaux vwlI ryKw hmySw ___________[ 
           The line joining the centre of a circle to the midpoint of a chord is always_____________. 

a) jIvw dy smWqr huMdI hY[/parallel to the chord. 
b) jIvw ‘qy lMb huMdI hY[/ perpendicular to the chord. 
c) jIvw dy brwbr huMdI hY[/equal to the chord. 
d) jIvw qoN v`fI huMdI hY[/ Greater than the chord. 

 

Q16) jykr sMiKAwvW 2, 5, x, 8, x+4 Aqy 5 dw mD̀mwn 5 hovy qW dw x mul̀ pqw kro 
If mean of numbers 2, 5, x, 8, x+4 and 5 is 5 then find the value of x. 

a) 2       b) 3       c) 4       d) 5 
 

Q17) ਜ੃ ਇਕ ਚਿੱ ਕਰ ਦ੃ ਦਵਆ਷ ਦਵਚ 10%  ਦੀ ਕਭੀ ਆਉਂਦੀ ਸ੄ ਤਾਂ ਿ੃ਤਰਪਲ ਦਵਚ ਦਕੂੰ ਨੀ ਩ਰਤੀਸ਼ਤ ਕਭੀ ਆਵ੃ਗੀ? 

If the diameter of a circle is decreased by 10% then How much percentage decrease in area will be there?  

         (a) 19%    (b) 20%      (c) 21%  (d) 10% 

Q18) id`qy gey ic`qr ivc̀ ∠ABC dw mu`l pqw kro[ 
         In the given figure, find the value of ∠ABC . 

a) 450        b) 800      c) 600        d) 900 
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Q19) ਇਿੱਕ ਘਣਾਕਾਰ ਫਕ਷੃, ਦਜ਷ਦਾ ਦਕਨਾਰਾ 2.5 ਭੀ. ਸ੄, ਨੂੂੰ  2 ਰੂ. ਩ਰਤੀ ਵਰਗ ਭੀ. ਨਾਲ ਰੂੰਗ ਕਰਨ ਦਾ ਿਰਚ ਸ੃ਵ੃ਗਾ: 
         Find the cost of painting a cubical box of edge 2.5 m at the rate Rs. 2 per square meter.  

   (a) 37.5 ਰ.ੁ     (b) 25ਰੁ.      (c)50 ਰੁ.  (d) 75 ਰ.ੁ 
Q20)    ਦ੅ ਦਵਅਕਤੀਆਂ X ਅਤ੃ Y ਨੂੂੰ  ਫਰਾਫਰ ਰਾਸ਼ੀ 7.5% ਦੀ ਦਰ ਨਾਲ ਷ਾਧਾਰਨ ਦਵਆਜ ਤ੃ ਕਰਭਵਾਰ 4 ਷ਾਲ ਅਤ੃ 5 ਷ਾਲ ਲਈ ਉਧਾਰ 

ਦਦਿੱ ਤੀ ਗਈ । ਜ੃ਕਰ ਉਸਨਾਂ ਦੁਆਰਾ ਦਦਿੱ ਤ੃ ਗਏ ਷ਾਧਾਰਨ ਦਵਆਜਾਂ ਦਵਿੱ ਚ ਅੂੰ ਤਰ 150 ਰੁ਩ਏ ਸ੅ਵ੃ ਤਾਂ ਉਸਨਾਂ ਦਵਿੱ ਚੋਂ ਸਰ੃ਕ ਨੂੂੰ  ਦਦਿੱ ਤੀ 
ਗਈ ਰਾਸ਼ੀ ਩ਤਾ ਕਰ੅। 

 Equal sums of money are lent to X and Y at simple interest at 7.5% per annum for a period of 4 years and 

5 years respectively. If the difference in interest paid by them Rs. 150, the sum lent to each was: 
 a) Rs.500        b) Rs.100  c) Rs. 2000      d) Rs. 300 
Q21) id`qy gey ic`qr iv`c ABCD ie`k c`krI cqurBuj hY ijs ivc̀ AB nUM F q`k vDwieAw 

igAw hY Aqy BE || DC hY[ jykr ∠FBE = 20° Aqy ∠DAB = 95° hY qW ∠ADC pqw kro[ 
In figure, ABCD is a cyclic quadrilateral in which AB is extended to F and BE || DC. 
If ∠FBE = 20° and ∠DAB = 95°, then find ∠ADC. 

 a) 95°  b) 85°  c) 75°  d) 105° 

Q22) ie`k Awieqwkwr Kyq dI lMbweI iesdI cOVweI qoN iqMn guxw hY[jykr iesdI lMbweI nUM 3 mI. Gtw id`qw jwvy Aqy 
iesdI cOVweI nUM 3 mI. vDw id`qw jwvy qW ieh iek̀ vrg bx jWdw hY[ Kyq dIAW ivmwvW pqw kro[  

          A rectangular field is three times as long as it is wide. If its length was  3 m shorter and 3 m wider it would be 
a square. What are the dimensions of the rectangular field? 

          (a) 9m × 3m  (b) 6m × 2m   (c) 18 m× 6m   (d) 10m × 4m 
Q23) hyT id`qI swrxI kuJ ividAwrQIAW dy ivigAwn ivSy dI jmwq pRIiKAw ivc̀oN pRwpq kIqy AMk drsw rhI hY[jykr 

ividAwrQIAW dy AOsq AMk 2¼ hox qw x dw mu`l pqw kro[ 
         The marks scored by some students in the Science test are shown in the table below. If the mean marks 

obtained by students is 2 ¼  then find the value of x. 

 AMk/ Marks 0 1 2 3 4 5 

ividAwrQIAW dI igxqI/ Number of students 3 2 3 5 x 1 

a) 2            b) 3             c) 4         d) 5 
Q24) mu`l pqw kro: Find the value of: 

            9 
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−1

2  

a) 324            b) 315            c) 320        d)310 
Q25)  cwr AMkW vwlI iek̀ sMiKAw dy AMkW dw guxnPl 75 hY[ies sMiKAw dy AMkW dw joVPl pqw kro[ 
       Product of digits of a four-digit number is 75 . Find the sum of its digits. 

a) 10      b)  14       c) 16      d) pqw nhIN kIqw jw skdw/can not be determined 

Q26) ਇਿੱਕ ਷ਭਬੁਜੀ  ਦਤਰਬੁਜ ਦਾ ਿ੃ਤਰਪਲ  100 √3 ਷ਭ2 ਸ੄, iesdw pirmwp pqw kro[ 
           Area of  an equilateral triangle  is 100 √3 cm2 . Find its perimeter. 
            (a) 20 cm  (b) 72 cm  (c) 54 cm  (d) 60 cm 

  Q27) ਇਿੱਕ ਦਤਰਬੁਜਾਕਾਰ ਫ੅ਰਡ ਦ੃ ਦਕਨਾਰ੃ 5 ਷ਭ, 12 ਷ਭ ਅਤ੃ 13 ਷ਭ ਲੂੰ ਫ੃ ਸਨ। ਇ਷ ਫ੅ਰਡ ਨੂੂੰ  75 ਩੄਷੃ ਩ਰਤੀ ਵਰਗ ਷ਭ ਦੀ ਦਰ  ਨਾਲ 
਩ੇਂਟ ਕਰਨ ਦਾ ਿਰਚ ਩ਤਾ ਕਰ੅। 

         The edges of a triangular board are 5 cm, 12 cm and 13 cm. The cost of painting it at the rate of 75 paise per  cm2 is : 
           (a) Rs 22.00  (b) Rs 22.25  (c) Rs 2.25  (d) Rs 22.50 

Q28) ਜ੃ਕਰ ਅੂੰ ਕਦੜਆ ਦ੃ ਸਰ੃ਕ ਩ਰ੃ਿਣ ਦ੃ ਭੁਿੱ ਲ ਨੂੂੰ  5 ਵਧਾ ਦਦਿੱ ਤਾ ਜਾਵ੃ ਤਾਂ ਇ਷ਦਾ ਭਿੱ ਧਭਾਨ : 
     If each observation of the data is increased by 5, then their mean  

      (a) ਉਸੀ ਰਸ੃ਗਾ remains the same         

     (b) ਭੂਲ ਭਿੱ ਧਭਾਨ ਦਾ 5 ਗੁਣਾ ਸ੅ ਜਾਵ੃ਗਾ।/becomes 5 times the original mean) 

     (c)  ਭੂਲ ਭਿੱ ਧਭਾਨ ਤੋਂ 5 ਘਿੱਟ ਸ੅ ਜਾਵ੃ਗਾ / (is decreased by 5)  

     (d) ਭੂਲ ਭਿੱ ਧਭਾਨ ਤੋਂ 5 ਵਿੱ ਧ ਸ੅ ਜਾਵ੃ਗਾ (is increased by 5) 



Q. 29) ਇਕ ਤਸਵੀਰ ਵੱਲ ਇਸ਼ਾਰ਼ਾ ਕਰਦਿਆ ਂਇਕ ਦਵਅਕਤੀ ਆ਩ਣੇ ਿ੉ਸਤ ਨ ੂੰ  ਕਦ ੂੰ ਿ਼ਾ  ੈ, “ਉ  ਭੇਰ ੇਦ਩ਤ਼ਾ ਿੇ ਵੱਡ ੇਬਰ਼ਾ ਿੀ ਩੉ਤੀ 
 ੈ”, ਪ੉ਟ੉ ਦਵਚਲੀ ਲੜਕੀ ਆਿਭੀ ਨ਼ਾਲ ਦਕਵੇਂ ਸਫੂੰ ਧਤ  ੈ? 

Pointing to a photograph, a person tells to his friend, “she is the granddaughter of the elder brother of my 

father”, how is the girl in the photograph related to the man? 
a) Niece (ਬਤੀਜੀ)  b) Sister (ਬ੄ਣ)  c) Aunt (ਚਾਚੀ)         d)  Maternal Aunt (ਭਾ਷ੀ) 

Q. 30) ie`k pwsy dy do Alg̀-Al`g idRS hyT drswey Anuswr hn[ 5 ibMdUAW dy 
ault pwsy ikMny ibMdU hoxgy? 
 Two positions of a dice has been shown below. How many dots will be appear 

just opposite to 5 dots? 
a) 4   b) 2   c) 6   d) 1 

Q. 31) ਦਦਿੱ ਤ੃ ਗਏ ਦਚਿੱ ਤਰਾਂ ਦਵਿੱ ਚੋਂ ਉਸ ਦਚਿੱ ਤਰ ਚੁਣ੅ ਦਜ਷ਦਾ ਦਚਿੱ ਤਰ (X)  ਇਿੱ ਕ ਬਾਗ ਸ੄: 
     Choose the  figure which contains figure (X) as its part. 

 

 

 

 

 

Q. 32)  ਦਦਿੱ ਤੀ ਲੜੀ ਦਵਿੱ ਚੋਂ ਗਲਤ ਷ੂੰ ਦਿਆ ਚੁਣ੅:Find the wrong number in the series:  

1, 2, 3, 7, 15, 24, 51, 67, 131, 167, 281 
a) 167   b) 131   c) 281   d) 3 

Q. 33) ਦਦਿੱ ਤ੃ ਗਏ ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ ਇਿੱ ਕ ਩ਾਰਦਰਸ਼ੀ ਸ਼ੀਟ (X)  ਦਵਿੱ ਚ ਇਿੱ ਕ ਦਡਜ਼ਾਇਨ ਅਤ੃ ਇਿੱ ਕ ਦਾਨੇਦਾਰ ਲਾਈਨ ਨਾਲ ਦਦਿਾਈ ਗਈ ਸ੄। ਸ੃ਠ 
ਦਲਿੀਆਂ ਦਵਿੱ ਚੋਂ ਦਕਸੜਾ ਦਚਿੱ ਤਰ ਇ਷ ਸ਼ੀਟ (X)  ਨੂੂੰ  ਇ਷ ਦਾਨੇਦਾਰ ਲਾਈਨ ‘ਤ੃ ਭ੅ੜਣ ਤ੃ ਩ਰਾ਩ਤ ਆਦਕਰਤੀ ਨੂੂੰ  ਦਰ਷ਾ ਦਰਸਾ ਸ੄? 

Find out from amongst the four alternatives as to how the pattern would appear when the transparent 
sheet (X) is folded at the dotted line. 

 
 

 

 

Q. 34) If 30th January,2003 was Thursday, what was the day on 2nd March, 2003? 

30 ਜਨਵਰੀ 2003 ਨ ੂੰ  ਵੀਰਵ਼ਾਰ ਸੀ, 2 ਭ਼ਾਰਚ 2003 ਨ ੂੰ  ਦਕ ੜ਼ਾ ਦਿਨ  ੉ਵੇਗ਼ਾ? 

a) ਭੂੰਗਲਵਾਰ (Tuesday)    b) ਵੀਰਵਾਰ (Thursday)  
c) ਸ਼ਨੀਵਾਰ (Saturday)   d) ਐਤਵਾਰ (Sunday) 
 

Q. 35) ਜੇ ਦਕਸ ੇਖ਼ਾਸ ਬ਼ਾਸ਼ਾ ਕ੉ਡ ਦਵਚ 943 ਨ ੂੰ  BED ਅਤੇ 12448 ਨ ੂੰ  SWEET ਕ੉ਡ ਕੀਤ਼ਾ ਜਾਂਿ਼ਾ  ੈ[ 492311 nMU kI ਕ੉ਡ ਕੀਤ਼ਾ ਜ਼ਾਵੇਗ਼ਾ? 

If in a certain language 943 is coded as BED and 12448 is coded as SWEET. How is 492311 coded in that languages? 

a) EDSWBS     b) TSWBDD   c) DSWTEE       d) EBWDSS 


